
S1: E3

LastEpisode:facial n!=1.2.3...n.

0! =0,1! =1,2) =1.2 =2,3! =1.2.3 =6....

BPROBLEM2:Whatis the probability thatI among your 100 friends, some
have the same B4?

As before:
Complementary problem:Prob (all BDs are different.) =?

100

#Says toassign BD's) =365...365
=365
e

100

· All assignments are equally likely.
-

#waystoassign feet I=- 4.363...266,
100

365.3.64...266.265...3.2.1 365!
=

- -3.2.I T265

->ProS(all BD's are different)=25! - 3.10*(*)
365

->Rob. (some BD's are the same) =1-14) =0.919947 I

--



·Ablem:Computer can'tcalculate ():
365! =0

·n!=1.2.3......... grows too fast

e.g. 10! =3,628,800

· Stirling's imation:

n!=mn ()" as nix.

· For n=365, k=100
/

n -k

-A) =n =mh"in

rktek computables, gives (

-

-2-


